

## NEW MEANS AND INEQUALITIES

<sup>1</sup>K M NAGARAJA, <sup>2</sup>LAKSHI JANARDHANA R L AND <sup>3</sup>T VIMALA

<sup>1</sup>Department of Mathematics, JSS Academy of Technical Education, Uttarahalli-Kengeri Main Road, Bangalore-560060, Karanataka, INDIA.

<sup>2</sup>Department of Mathematics,First Grade College, Rajajinagar, Bengaluru-560010, Karanataka, INDIA.

<sup>3</sup>Department of Mathematics, School of Engineering and Technology, Jain University, Kanakapura Main Road, Bangalore-562112, Karanataka, INDIA.

ABSTRACT. In this paper, based on proportions, three new means are constructed. Some characteristic properties of these new means are verified and new inequalities involving them have been established.

### 1. INTRODUCTION

For  $e, m, f > 0$ , based on proportions the means  $M(e, f)$  are defined. The following table 1.1 shows 10 Greek means of which 4 are un-named [12].

Sl.No.	Proportion	Name of Mean	Notation
1	$\frac{e-m}{m-f} = \frac{e}{e}$	Arithmetic Mean	$A = \frac{e+f}{2}$
2	$\frac{e-m}{m-f} = \frac{m}{f} = \frac{e}{m}$	Geometric Mean	$G = \sqrt{ef}$
3	$\frac{e-m}{m-f} = \frac{e}{f}$	Harmonic Mean	$H = \frac{2ef}{e+f}$
4	$\frac{e-m}{m-f} = \frac{e}{f}$	Contra harmonic Mean	$C = \frac{e^2+f^2}{e+f}$
5	$\frac{e-m}{m-f} = \frac{f}{m}$	First kind of Contra geometric Mean	$F_5 = \frac{e-f+\sqrt{(e-f)^2+4f^2}}{2}$
6	$\frac{e-m}{m-f} = \frac{m}{e}$	second kind of contra geometric Mean	$F_6 = \frac{f-e+\sqrt{(e-f)^2+4e^2}}{2}$
7	$\frac{e-m}{e-f} = \frac{f}{e}$	un named Mean	$F_7 = \frac{e^2-ef+f^2}{e}$
8	$\frac{e-m}{e-f} = \frac{m}{e}$	un named Mean	$F_8 = \frac{e^2}{2e-f}$
9	$\frac{m-f}{e-f} = \frac{f}{e}$	un named Mean	$F_9 = \frac{f(2e-f)}{e}$
10	$\frac{m-f}{e-f} = \frac{f}{m}$	un named Mean	$F_{10} = \frac{f+\sqrt{f(4e-3f)}}{2}$

Table 1.1

The construction of new means are studied in [1, 2, 4, 5, 6, 7] inequalities involving well known means are discussed in [3, 8, 9, 10, 11, 13].

<sup>0</sup>AMS Subject classification; Primary 26D10, secondary 26D15

<sup>2</sup>Corresponding author: ljrcmath@gmail.com

*Key words and phrases.* Keywords: Mean,propositions, Properties, Inequality.

## 2. STRUCTURE OF NEW MEAN

In this section, three new means are defined and clearly observed that, the means  $F_i \neq F_j$ , where  $i \neq j$  and  $1 \leq i, j \leq 10$ .

**Definition 2.1.** For  $e > m > f > 0$ , choose  $\beta = \frac{e}{f}$  or  $\frac{f}{m}$  or  $\frac{m}{e}$ , and  $\beta \in (0, 1)$ .

In the proportion 9 of the table 1.1, (ie. serial number 9), replace  $e$  by  $M(e, f)$  and  $f$  by  $N(e, f)$ , then

$$(2.1) \quad \beta = \frac{m - N(e, f)}{M(e, f) - N(e, f)},$$

where  $M(e, f)$  and  $N(e, f)$  are any two distinct means of above 10 Greek means (i.e.,  $F_i$ , where  $1 \leq i \leq 10$ ).

On simplifying and replacing  $m$  by  $R$  leads to

$$(2.2) \quad R = R(e, f; \beta) = \beta M(e, f) + (1 - \beta)N(e, f)$$

The proportion 8 of the table 1.1, (ie. serial number 8), replace  $e$  by  $M(e, f)$  and  $f$  by  $N(e, f)$ , then

$$(2.3) \quad \beta = \frac{M(e, f) - m}{M(e, f) - N(e, f)}$$

On simplifying and replacing  $m$  by  $S$ ,

$$(2.4) \quad S = S(e, f; \beta) = \beta N(e, f) + (1 - \beta)M(e, f)$$

In the proportion 6 of the table 1.1, (ie. serial number 6), replace  $e$  by  $M(e, f)$  and  $f$  by  $N(e, f)$ , then

$$(2.5) \quad \beta = \frac{M(e, f) - m}{m - N(e, f)}$$

On simplifying and replacing  $m$  by  $T$  leads to

$$(2.6) \quad T = T(e, f; \beta) = \frac{1}{1 + \beta}M(e, f) + \frac{\beta}{1 + \beta}N(e, f)$$

Here,  $R(e, f; \beta)$ ,  $S(e, f; \beta)$ , and  $T(e, f; \beta)$  are the three new means.

In the proportions 2.1, 2.3 and 2.5, replace  $e$  by  $\ln e$ ,  $f$  by  $\ln f$ ,  $m$  by  $\ln m$ ,  $M(e, f)$  by  $\ln M(e, f)$  and  $N(e, f)$  by  $\ln N(e, f)$ , by simplifying and replacing  $m$  by  $R^{(d)}$ ,  $m$  by  $S^{(d)}$  and  $m$  by  $T^{(d)}$ , the following equations are obtained.

$$(2.7) \quad R^{(d)} = R^{(d)}(e, f; \beta) = M(e, f)^\beta N(e, f)^{1-\beta}$$

$$(2.8) \quad S^{(d)} = S^{(d)}(e, f; \beta) = N(e, f)^\beta M(e, f)^{1-\beta}$$

and

$$(2.9) \quad T^{(d)} = T^{(d)}(e, f; \beta) = M(e, f)^{\frac{1}{1+\beta}} N(e, f)^{\frac{\beta}{1+\beta}}$$

Then,  $R^{(d)}(e, f; \beta)$ ,  $S^{(d)}(e, f; \beta)$  and  $T^{(d)}(e, f; \beta)$  are respectively called the dual forms of the three new means  $R(e, f; \beta)$ ,  $S(e, f; \beta)$  and  $T(e, f; \beta)$ .

3. SOME PROPERTIES AMONG NEW MEANS

For any Greek mean  $M(e, f) \neq N(e, f)$ , the following properties are obtained by giving particular values to  $\beta$

- (1)  $R(e, f; \frac{1}{2}) = S(e, f; \frac{1}{2})$
- (2)  $R(e, f; 0) = S(e, f; 1) = N(e, f)$
- (3)  $R(e, f; 1) = S(e, f; 0) = T(e, f; 0) = M(e, f)$
- (4)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 0) + S(e, f; 1)] = \frac{1}{2}(M + N)$
- (5)  $T(e, f; 1) = \frac{1}{2}[R(e, f; 0) + R(e, f; 1)] = \frac{1}{2}(M + N)$
- (6)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 0) + R(e, f; 0)] = \frac{1}{2}(M + N)$
- (7)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 1) + R(e, f; 1)] = \frac{1}{2}(M + N)$
- (8)  $R(e, f; 1) \leq T(e, f; 1) \leq S(e, f; 1)$
- (9)  $S(e, f; 0) \leq T(e, f; 0) \leq R(e, f; 0)$

In particular, take  $N(e, f) = A(e, f) = A$  and  $M(e, f) = H(e, f) = H$ , then the following deductions and inequalities are obtained.

- (1)  $R(e, f; \frac{1}{2}) = S(e, f; \frac{1}{2}) = \frac{A(e,f)+H(e,f)}{2} = C(e, f)$
- (2)  $R(e, f; 0) = S(e, f; 1) = A(e, f)$
- (3)  $R(e, f; 1) = S(e, f; 0) = T(e, f; 0) = H(e, f)$
- (4)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 0) + S(e, f; 1)] = \frac{A(e,f)+H(e,f)}{2} = C(e, f)$
- (5)  $T(e, f; 1) = \frac{1}{2}[R(e, f; 0) + R(e, f; 1)] = \frac{A(e,f)+H(e,f)}{2} = C(e, f)$
- (6)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 0) + R(e, f; 0)] = \frac{A(e,f)+H(e,f)}{2} = C(e, f)$
- (7)  $T(e, f; 1) = \frac{1}{2}[S(e, f; 1) + R(e, f; 1)] = \frac{A(e,f)+H(e,f)}{2} = C(e, f)$
- (8)  $R(e, f; 1) \leq T(e, f; 1) \leq S(e, f; 1)$
- (9)  $S(e, f; 0) \leq T(e, f; 0) \leq R(e, f; 0)$

4. SOME INEQUALITIES AMONG NEW MEANS

The inequalities involving the new means  $R(e, f; \beta)$ ,  $S(e, f; \beta)$  and  $T(e, f; \beta)$  and the validity of some double inequalities are presented in the form of theorems.

**Theorem 4.1.** For  $e, f > 0$  and  $M(e, f) \leq N(e, f)$ , then with usual notations the following inequalities are holds good;

- (1)  $R(e, f; \beta) < T(e, f; \beta) < S(e, f; \beta)$  for  $\beta \in (0.62, 1)$
- (2)  $T(e, f; \beta) < R(e, f; \beta) < S(e, f; \beta)$  for  $\beta \in (0, 0.5)$

Proof: Consider  $S - R = [N\beta + (1 - \beta)M] - [M\beta + (1 - \beta)N]$   
 $= (1 - 2\beta)M - (1 - 2\beta)N$   
 $= (1 - 2\beta)(M - N) > 0$ , if  $\beta > \frac{1}{2}$   
 $= (1 - 2\beta)(M - N) < 0$ , if  $\beta < \frac{1}{2}$

That is

$$(4.1) \quad S > R \quad \text{if} \quad \frac{1}{2} < \beta < 1$$

$$(4.2) \quad S < R \quad \text{if } 0 < \beta < \frac{1}{2}$$

$$\begin{aligned} \text{Similarly by considering } S - T &= [N\beta + M(1 - \beta)] - \left[ \left( \frac{\beta}{1+\beta} \right) N + \left( \frac{1}{1+\beta} \right) M \right] \\ &= \left[ \frac{\beta + \beta^2 - \beta}{1+\beta} \right] N + \left[ \frac{(1 - \beta^2 - 1)}{1+\beta} \right] M \\ &= \left[ \frac{\beta^2}{1+\beta} \right] (N - M) > 0 \end{aligned}$$

That is

$$(4.3) \quad S > T \quad \text{for all } \beta \in (0, 1)$$

$$\begin{aligned} \text{and } R - T &= [\beta M + (1 - \beta)N] - \left[ \left( \frac{\beta}{1+\beta} \right) N + \left( \frac{1}{1+\beta} \right) M \right] \\ &= \left( \frac{\beta + \beta^2 - 1}{1+\beta} \right) M + \left( \frac{1 - \beta^2 - \beta}{1+\beta} \right) N \\ &= \left( \frac{\beta^2 + \beta - 1}{1+\beta} \right) (M - N) > 0 \end{aligned}$$

which is equivalently written as;

$$(4.4) \quad R - T = \frac{\left( \beta + \frac{\sqrt{5}+1}{2} \right) \left( \beta + \frac{1-\sqrt{5}}{2} \right)}{1+\beta} (M - N)$$

$$(4.5) \quad R - T > 0 \quad \text{if } \beta + \frac{1 - \sqrt{5}}{2} < 0 \text{ or } \beta < 0.61$$

$$(4.6) \quad R - T < 0 \quad \text{if } \beta + \frac{1 - \sqrt{5}}{2} > 0 \text{ or } \beta > 0.62$$

By combining the eqs (6.4.1) – (6.4.6) leading to,

$$R < T < S, \quad \beta \in (0.62, 1) \text{ and } T < S < R, \quad \beta \in (0, \frac{1}{2})$$

To substantiate the result obtained, fix particular values for the variables.

Take  $M = \sqrt{2}$ ,  $N = 1.5$ , since  $\beta \in (0.62, 1) = 0.64$

$$R = M\beta + (1 - \beta)N = 1.444$$

$$T = \left[ \left( \frac{\beta}{1+\beta} \right) N + \left( \frac{1}{1+\beta} \right) M \right] = 1.447$$

$$S = N\beta + M(1 - \beta) = 1.4690$$

Hence

$$R < T < S, \quad \beta \in (0.62, 1)$$

Similarly for  $M = \sqrt{2}$ ,  $N = 1.5$ , since  $\beta \in (0, 0.5) = 0.3$

$$R = M\beta + (1 - \beta)N = 1.474$$

$$T = \left[ \left( \frac{\beta}{1+\beta} \right) N + \left( \frac{1}{1+\beta} \right) M \right] = 1.433$$

$$S = N\beta + M(1 - \beta) = 1.439$$

Therefore

$$T < S < R \quad \beta \in (0, \frac{1}{2})$$

This complete the proof of the Theorem (6.4.1).

As an application the following inequalities are established for real value of  $y \in (0, 1)$ .

**Theorem 4.2.** For  $y \in (0, 1)$  then with usual notations the following inequalities are holds good;

- (1)  $1 + y \geq 2^y$
- (2)  $2 - y \geq 2^{1-y}$
- (3)  $1 + \frac{1}{1+y} \geq 2^{\frac{1}{1+y}}$
- (4)  $1 - \frac{y}{2} \geq \frac{1}{2^y} \geq \frac{1}{1+y}$
- (5)  $\frac{1}{2^y} \geq \frac{1}{1+y} \geq 2^{\left(\frac{1}{1+y}\right)} - 1$

Proof: By setting  $M(e, f) = M = 2$ ,  $N(e, f) = N = 1$  and  $\beta \in (0, 1)$ , then new means and their dual forms are given by;

- (1)  $R = 2\beta + (1 - \beta) = \beta + 1$
- (2)  $R^d = 2^\beta$
- (3)  $S = 2(1 - \beta) + \beta = 2 - \beta$
- (4)  $S^d = 2^{1-\beta}$
- (5)  $T = \frac{2+\beta}{1+\beta}$
- (6)  $T^d = 2^{\frac{1}{1+\beta}}$

From Arithmetic Geometric mean inequality and the results proved in theorem 4.1 leads to the following, which are holds for all  $\beta \in (0, 1)$ .

- (1)  $R = 2\beta + (1 - \beta) = 1 + \beta \geq R^d = 2^\beta$
- (2)  $S = \beta + 2(1 - \beta) = 2 - \beta \geq S^d = 2^{1-\beta}$
- (3)  $T = \frac{2+\beta}{1+\beta} \geq T^d = 2^{\frac{1}{1+\beta}}$

Replace  $\beta$  by  $y$  and  $y \in (0, 1)$  then

- (4.7)  $1 + y \geq 2^y$
- (4.8)  $2 - y \geq 2^{1-y}$
- (4.9)  $1 + \frac{1}{1+y} \geq 2^{\left(\frac{1}{1+y}\right)}$

By combining eqs 4.7 and 4.8 gives the inequality

(4.10)  $1 - \frac{y}{2} \geq \frac{1}{2^y} \geq \frac{1}{1+y}$

By combining eqs 4.7 and 4.9 gives the inequality

(4.11)  $\frac{1}{2^y} \geq \frac{1}{1+y} \geq 2^{\left(\frac{1}{1+y}\right)} - 1$

To substantiate the result obtained, fix particular values for the variables. since  $y \in (0, 1)$ , fix  $y = 0.5$  for the above equations from (6.4.7) to (6.4.11)

- $1 + 0.5 \geq 2^{0.5}$  implies  $1.5 \geq 1.412$
- $2 - y \geq 2^{1-0.5}$  implies  $1.5 \geq 1.414$
- $1 + \frac{1}{1+0.5} \geq 2^{\left(\frac{1}{1+0.5}\right)}$  implies  $1.666 \geq 1.587$
- $1 - \frac{0.5}{2} \geq \frac{1}{2^{0.5}} \geq \frac{1}{1+0.5}$  implies  $0.75 \geq 0.707 \geq 0.666$
- $\frac{1}{2^{0.5}} \geq \frac{1}{1+0.5} \geq 2^{\left(\frac{1}{1+0.5}\right)} - 1$  implies  $0.707 \geq 0.666 \geq 0.587$

## 5. CONCLUSION

New means are constructed and a set of double inequalities are established.

## REFERENCES

- [1] Ambika M Hejib, Venkataramana B.S, K. M. Nagaraja, R. Sampath kumar, *The properties of one parameter power exponential mean and its invariants*, *Advances and Applications in Mathematical Sciences*, 20(7),(2021), 1197-1208.
- [2] Ambika M. Hejib, K. M. Nagaraja, R. Sampathlumar and B.S. Venkataramana, *Inequalities among Complementary mean of Heron mean and classical means*, *Advances and Applications in Mathematical Sciences*, 20(7),(2021), 1249-1258.
- [3] R. C. Lakshmi Janardhana, K. M. Nagaraja, K. Murali, *Improvement of Harmonic and Contra Harmonic inequalities chain*, *International Journal of Pure and Applied Mathematics*, 114(4), (2017), 771-776.
- [4] V. Lokesha, S. Padmanabhan, K. M. Nagaraja and Yilmaz Simsek, *Relation between Greek means and various other means*, *General Mathematics*, 17(3)(2009), 3-13.
- [5] V. Lokesha, K. M. Nagaraja, Naveen Kumar. B and S. Padmanabhan, *Oscillatory type mean in Greek means*, *Int. e-Journal of Engg. Maths Theory and Applications*, 9(3) (2010), 18-26.
- [6] K. M. Nagaraja, P. Siva Kota Reddy and B. Naveenkumar, *Refinement of Inequality involving ratio of Means for four Positive Arguments*, *Bulletin of International Mathematical Virtual Institute*, Vol. 3(2013), 135-138.
- [7] K. M. Nagaraja, V. Lokesha and S. Padmanabhan, *A simple proof on strengthening and extension of inequalities*, *Advn. Stud. Contemp. Math.*, 17(1) (2008), 97-103.
- [8] K. M. Nagaraja, Venkataramana B S, Sampath kumar. R and Harish. A, *The Ky Fan type inequalities for power exponential mean and its invariant*, *GIS Science Journal*, 8(1), (2021), 106-115.
- [9] K. M. Nagaraja, Serkan Araci, V. Lokesha, R. Sampathkumar, T. Vimala, *Inequalities for the arguments lying on linear and curved path*, *Honam Mathematical Journal*, 42(4), (2020), 747-755.
- [10] G. Narasimhan, K. M. Nagaraja, R. Sampath Kumar, K. Murali, *Establishment of a new inequality using extended Heinz type mean*, *Journal of Physics: Conference Series*, 113991), (2018),1-5.
- [11] R. Sampath Kumar, G. Narasimhan and K. M. Nagaraja R. Sampath Kumar, *New Family of Heinz Type Means*, *International Journal of Pure and Applied Mathematics*, 118(18), (2018), 3427-3433.
- [12] Silvia. Toader and Gheorghe. Toader, *Greek means and Arithmetic and Geometric means*, RGMIA monograph, (2005).
- [13] Vimala. T, K. M. Nagaraja and Sampathkumar.R, *A Harmonic and Heron mean inequalities for arguments in different intervals*, *International Journal of Mathematical Archive*, 1097), (2019), 47-52.